| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

track dz (cm)

20
track dz (cm)

track dz (cm)

0.

n o
= I3}
£
e
> o
[ToRe= ~
e s
3
Jo M
= O |x o
= e —
EY [To) >
H
8
-{o 5 )
2
I [To) 8
[ 8
= o
o E —
S % |
! 2
LD o
-1 2 o
1 £ IN]
o 2 1
4N m
! 5
L |3 S
< | 8 o)
o 4 - ]
— [=} ° o
syoes areddnp H z
o _ o
N o
£
Jo o
LE
2
o
— O
]
Jo
S ©
B 2
-
-{o
I Yo}
1
o
1T
)
1
o
N
LD
2 £
3 2
Syoel] AXey S|
n o
N I3}
HR e
[~ o
) I
e s
S
Jo M
— © N o
s |8 =1
-{o g
o
2
) S )
o E|
[ 5 o
o
= s |
| 3
[t} 2
I =5 < o
| 2 IN]
o E 1
AR g
| °
1 Y a I3
= ¢ 5P
] 3 @

syoel ann

track dxy (cm)

10 20 30
track dz (cm)

0

-10

-20

0

syoen

05 =50-15-10 -5 0 5 10 15 20 25

N of reco track vs dz

~
o
-

5
=3



	Contents
	Page 1


